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PHYSICS

_ T.vsin©O (a _ 0)

cos0

2[ut+%gt2} = [u(t+1)+%g(t+1)2}

6. A
Weight of chain hanging = frictional force on chain above the table
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7. C

W =m(g+a) w.r.t. earth
8. D

I:net :F_MN

F

For F_ =0; N:u
9. A
10. A

(Yo

g

11. A

vV, =a,t v, =0
12. C

X=V,t
13. D

VX1 VXz t X

x (30-x)" X

14. B

X=Vt y=vt
15. C

aTel :0
PART - B

L (A)=(a); (B)=(p); (C)=(s); (D)=(r)

(A) v:c(;—)t(, a:% Either both are positive or negative
(B) x=0
2 2
(C) d—Z(<0 and %>O or d—Z(>O and d—X<0
dt dt dt dt
dx
D —=0
(D) pm

2. (A)=(a,1); B)=(p); (C)=(p,q); (D)—(s)
(A) mgsind =F, <umgcoso

(B) Fc =F,, along the plane
©) a,« =0, F,, =F along the plane
(D) tan6=0=u=0

F.=uN=0

CHEMISTRY
PART - A

1. A
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2. D
3. C
FesOas + 8H* + 21~ — 3Fe2 + 4H,0 + I,
2329 254 g

As 232 g of Fe3O4 would produce 254 g of I2
This sample is 90 % pure.
So 10 g of the sample would contain 9 g of FesOs which would produce

%x9=9.853 gofl,.
4, D
5. D
6 A
7. C
8. A
9 B
10. B
11. B
12. B
13. B
14. C
15. D
PART -B
1. (A)=(a,rt); B)=(p.r t); (C)=(p. 1, 1); (D)=(r,s,1)
2. (A)=(p.q.r,t); B)-(a,r); (C)—=(s); (D)=(p,q,r,t)
MATHEMATICS
PART - A
1 D

The image of y =[x -1 w.rt. y-axisis y =|x+1 =y =+(x+1)
Required solution is (y —(x+1))(y+(x+1))=0

yz—(x+1)2 =0 y>—x*-2x-1=0
X?—y*+2x+1=0
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2. C
log, xlogs k =log, 5
logk log5 log, 5
(log, 5)° =1=log, 5 = +1
x=55"
Sum=5 +:—L = @
5 5
3. A

Equation of circle

(x—2)2 +(y—5)2 +A1(2x-y+1)=0

x> +y? +2(A-2)x—(10+1)y+29+A1 =0
10+kj

Centre (2 -A,

Centre lieson x—2y=4—=2-A-10-1=4

2 =-12

A=-6

- Radius =/’ +f —c =64+ 4-29+6
=/64-19 = 45 =35

4 C
1-x
y= m .............. (|)
Y (1+x)=1-Xx .......... (i)

y= 2y(1+x) dx 2y (1+x)
1-x
(1- x)(1+)
(1 Xz)dY_ 1+x
dx 2y
2(1-
(1—x2)d—y:——( X)
dx  2y(1+x)
dy y?
1-x2) Y =Y
(%) g ==y =
5. C
I:j I-n(tanx) dx
SinXcos X
Let In(tanx) =t
isec2 xdx = dt
tanx
I S
sinxcos x
2 2
.'.I=Itdt=t—+czm—n)()+c
2 2
6. A

FIITJEE Ltd., FIITIEE Kathauta Chauraha, Vinamra Khand, Gomti Nagar, Lucknow — 226010. Ph: 0522-2724960, 2724961. www.fiitieelucknow.com
FIITJEE Ltd., Near M.G. Convent School, Sector - G, LDA Colony, Kanpur Road, Aashiana, Lucknow - 226012. Ph: 0522-4114644, 4114645,
FIITJEE Ltd., Near Four Season House, A-1/3, Sector - C, Aliganj, Lucknow - 226024, Ph: 0522-4976464, 4976465.



http://www.fiitjee.com/

Solutions_CTY1820_B-LOT_PH1_ADV_PCM2_SET-A - P5

3n/4

_[ (1+cosx)dx =[x +sinx""* = =
n/4 o 2
7 C
Iogl4x+620:>0<4x+6<1
5 X
4x+6>O & 4x+6_1<O
X X
5x—6<0
X
—e _  — ——e
+ + + — +
i I I I
-3 0 0 6
2 5

Clearly x e (—% OJ has no solution

2*(x+y)=1and (x+y)’ =2 have two pair of solutions.
.. Option (C) is true.

8. A
y = 4/log, sinx = log, sinx =0
sinx>1=sinx=1

x=(4n+1)g, nel

9. A

Forn =3, G:L—n

2.1 7
c0s0c0s20c0s2%0 = ;_31

T 2n 47
,.COS—COS—COS— = ——
7 7 7

10. B

Equation of tangent at P

14x(-3) +14.y.6 +108(x - 3)

—%(y+6)+432=0

4x+3y-6=0

11. C

Radius = \g> +f2 —c = 165

28

12. B
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/DPT =0, slope of PT = %4

Let PT = ¢, tan20 = 282
8€
cosO = 11_ ‘30
137

tan20 15x13

coso - 28«/1_3><\/110

. —56\/10 + 74\/10
sind =
60+/13
c.tano = i
11
13. D

l+a+pf=6 -2-20+p-3=9
a=-3, =8

=(-3, 6), C=(8, 5)
Equation of BC is x+11y =63
L p+q=63+11=74

14. B
SIopeofBP=—1:>3+2a=—1 a=-5
2-a
SIopeofCP—E ;6=3:>B=10
2 B-2 2
B=(-5,10), C=(10, 7), Equation of BC is r+5y =45
S p+q=50
15. A
=26 =PB? =PC?
(0-2)° +(3+20) =(B-2)° +(p—6)" =
B=7

o= —% or 1 (rejected because vertices A and B coincide)

—(—E, ﬁj and C=(7, 4)
5 5

. Equation of BC is x+8y =39 =p+q=47

PART -B
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1. (A)=(p,g,r,s); (B)=-1(g,s); (C)=(r); (D)-(a)
2. (A) = (t); (B) = (p); (C)=(r); (D)-(q)
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